
SAP ABAP table OIU_PR_WCALF {WC Allocation Factor}

OIU_PR_WCALF

MANDT [CLNT (3)]

FREQ_CD [CHAR (1)]

DN_NO [CHAR (20)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

PRD_DT [DATS (8)]

MATNR [CHAR (18)]

THEO_U [UNIT (3)]

OIU_PR_WC

MANDT [CLNT (3)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

 OIU_PR_WCALF-WC_NO = OIU_PR_WC-WC_NO 0..N

1

OIU_PR_WELL

MANDT [CLNT (3)]

WL_NO [CHAR (15)]

 OIU_PR_WCALF-WL_NO = OIU_PR_WELL-WL_NO 
0..N

1

T000

MANDT [CLNT (3)]

 OIU_PR_WCALF-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIU_PR_WCALF-THEO_U = T006-MSEHI 

0..N

1


